KING FAHD UNIVERSITY OF PETROLEUM & MINERALS

Electrical Engineering Department
EE 306 — Term 172
HW # 3: Single Phase Transformers
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(a)
|00 %I ! |00 A
— & o s
V;[“%&d) - (000\/) 'LH(leZA) (000
~ [(oox(o = [000A
Vimta y = 100v, T_peta) ° 955

I %Mww,

R = ’OQL = 25 N
S
ICL = _%‘?- = z‘f'ﬁ
ImL_ = /LI_L{L = 4-474
XM = (60 _ 2.
b Lagg ° BRI
Twrns vk o a = /oloo = |o

FV’W\

R - (o - O )8
“4 H (oo™

2 _ S_b > O'S__A'

24 H (oD
)(‘27\* F f:sl,_ o ig® T

0.4 665

(b)

o— W——\M
O:18-n ) O-4£65n /
\/‘ 42200~ .
H 2§ A

E vk ed eunk hﬁe.gm_n_,t do HKov. e

Page 1 of 5



( o-1& Jo'lf(‘y
(

-~ ,____.__/Vf-——("\'-ﬁ
V' = V;-(— J'»2¢7H ; _’[‘_' ‘
| v,
= looo[,o: + (00/53 (0"8*:)0“'“‘).__’___,_,__,/__——3
= Q74 4 (22
(m o _— 2 ﬂ /.
VR . a14-4T ——xo2 fo

(d)

Phaser Diagram
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Solution P2:
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Solution P3:
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